BE30—k

1[E] 8
F— LA it X 1 2 3 4 5 6 7 it
(¥k) = 1EWEERR =% |1 21001 4
GALAXY EM |[0|O0|1|0]|0|0]0O 1
1= B
F—LBH #h X 1 2 3 4 5 6 it
AT R mxE (0|0 0|0 1 4
+HBTH57 +HET|[3 (0|22 |2]|0]|X 9
RFJREE
F—LEH ith X 1 2 3 4 5 6 7 8 9 it
(Rk) =& B ERT =% |of(1|lo|1]|2]0|3|0]0O 7
+HBTH57 +HET| 2 (0|0 |1 ]0|0O]|1]|0]T1 5
WmE40—k
1[5 B
(B4TL—%)
F—LBH #h X 1 2 3 4 5 6 7 (8) it
Z—IL Bt BMt | 0 0| 4 0
INFREBE INFA]O|[O| 3|0 1]0]0]|1x 5
1= B
F—LEH ith X 1 2 3 4 5 6 7 it
EMItHIEEkIST | EFE |1 /0[(0[0]|2]2]|0 5
=L miZ |1|lol1]0]0]|O0]|O 2
KRR EE
F—LEZH ith X 1 2 3 4 5 6 7 8 9 it
EILHEER%I ST | B |2 (0| 1|01 110 5

INFREBE INFA[1T |0l 2]0]1]0|2]|0]|X 6




